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Data Sufficiency Questions Overview

Data Sufficiency Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam
is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to
elaborate the concept used in Data Sufficiency Questions.

Question

What is the code for the word 'Seema'? |. "Reena Seema Hina Karuna" is coded as "mn tk vx az" and "Arun Reena Varun
Tarun" is coded as "vk rs tk bm". Il. "Prerna Muskan Nehal Neha" is coded as "st uw mn cd" and "Neha Tarun Sneha
Sukriti" is coded as "cd po rs gn".

Difficulty : Moderate Average Time: 44 Seconds

Options :
1. Data in Statement | alone is sufficient

2. Data in Statement Il alone is sufficient
3. Data either in Statement | alone or in Statement Il alone is sufficient
4. Data in both Statements | and Il together are not sufficient

5. Data in both Statements | and Il together are necessary

Solution

The correct answer is Option 4 i.e. Data in both Statements | and Il together are not sufficient
From statement I

We only find the code of Reena i.e. "tk".

From statement II:

We only find the code of Neha i.e. "cd".

From I and II:

We only find the code of Tarun i.e. "rs".

Clearly, we can't decide the code of Seema so, both statements together are not sufficient.
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Hence, the correct answer is"Data in both Statements | and Il together are not sufficient".
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